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BV — i — 590 | A1088 1.6] 367.73 588.37
BHUE SRR E Tp) QRCiE HKAKD I —3L 340 [ A1090 1.6] 214.69 343.5
Y ABLET 1.0mPIA 1.4] (m3) 6,200 8,680 | A1412
HURL ADET ik 0.8] (m3) 2,700 2,160 | A1424
R A T AN LT BTN 92t 0.6] (m3) 3,660 2,196 | A1446
AEER A T ALy AR 0.6] (m3) 2,880 1,728 | A1447 %9
O] Hi1 5 (RC—40) 2t -4t HL 0.1] m3 6,130 613 | A1480
vy —h Fcl8 S=15 M+HMR(E" 7)) 0.1 m3 20,500 2,050 | A1488
)RV TS AR 1) A 90,000 90,000 | A1489

108,357
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I MEFTRREAL . 7 AL Fc=21 S=15 M +hk(E7°) 21,300 21,300 |(1)
Y-V TR AR 90,000 90,000 | A1546
FE IS IRSR P IE 21-15—27-15 1,200 | A1560 1 1200 1200
RCE &M (BE)
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IR SR (BFE) Hb S PR 2. 8mER A 3,780 17,010 | A1592
FI Ak A& BAE B4y BBV VA a— ALEE S 2,970 | A1602 4.5 660 2970
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TR e At LI T 1,910 | A1606 8.3 230 1909
HEHAD-10 SD-295A 92,000 2,760 |B
BREAHD-13 SD-295A 90,000 2,700 |B
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4 N T T M B # | BAL B A 4 KA i o
Aa—} B Hil ERCEN B
L. &GPHA
CB#E N7V =0k F 1.4] (m3) 16,900 23,660 | A4614
)= T E A\ A 2L HLE 1.4] (m3) 7,550 10,570 | A4889
P =M TS BIEER 1.4] (m3) 3,060 4,284 | A4891 %10
INF 38,514 [310/88F 4,284
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4 N T T M B # | BAL B A 4 KA i il
Aa—} B Hil ERCEN B
2. 4578
CB¥IE N7V =0k F 6.3] (m3) 16,900 106,470 | A4614
)= T E A\ A 2L HLE 6.3] (m3) 7,550 47,565 | A4889
P =M TS BIEER 6.3] (m3) 3,060 19,278 | A4891 %10
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CB#E N7V =0k F 0.7] (m3) 16,900 11,830 | A4614
)= T E FEAR A 2 BT B 0.7] (m3) 8,420 5,894 | A4887
P =M TS BIEER 0.7 (m3) 3,060 2,142 | A4891 %10
INF 19,866 [|3%10/1h8ti 2,142

19,866
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4 N T T M B # | BAL B A 4 KA i o
Aa—} B Hil ERCEN B
4. #PHD
CB#E N7V =0k F 0.7] (m3) 16,900 11,830 | A4614
)= T E FEAR A 2 BT B 0.7] (m3) 8,420 5,894 | A4887
P =M TS BIEER 0.7 (m3) 3,060 2,142 | A4891 %10
INF 19,866 [|3%10/1h8ti 2,142

19,866
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4 N T T M B # | BAL B A 4 KA i o
Aa—} B Hil ERCEN B
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CB#E N7V =0k F 1.4] (m3) 16,900 23,660 | A4614
)= T E FEAR A 2 BT B 1.4] (m3) 8,420 11,788 | A4887
P =M TS BIEER 1.4] (m3) 3,060 4,284 | A4891 %10
INF 39,732 [310/h3FF 4,284
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4 N T T M B # | BAL B A 4 KA i il
Aa—} B Hil ERCEN B
6. #uPHE
CB#E N7V =0k F 6| (m3) 16,900 101,400 | A4614
)= T E RSP A 2t B E 6| (m3) 8,420 50,520 | A4887
P =M TS BIEER 6| (m3) 3,060 18,360 | A4891 %10
N E 170,280 [3¢10/:3Fi 18,360

170,280
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(2) SefE I PRI

AR TN F) 5385 40cm PA_E60cm A i 1| (K) 7,300 7,300 | A4802

AR A LNy I5Y) 2 25cmbh F40em AT Kbt T 1| () 3,360 3,360 | A4808

AR A LNy I5Y) 25 40cm Lk F60em AT Kbkt T 1| () 5,190 5,190 | A4809

AR RO yIET) g8 /E60cm LA F90em A Atk it T 1| (&) 7,300 7,300 | A4810

S 2| (B 2,320 4,640 |(9)

a7 - M N7V —hid 0.1] (m3) 5,250 525 | A4594

BV VDY L) 200mm2A T 3.3] (m) 680 2,244 | A4601

30,559



N R (5 220D

%
4 PR o BT & B ¥ | B ol o] i i
Aa—} B3 AT ER /SN it
)Y i A FFEA 2t HE 0.1] (m3) 7,550 755 | A4889
1)) =M ALy AR 0.1] (m3) 3,060 306 | A4891 %10
FEA AR (EA - 5250 BB IA 2t 2.2| (m3) 10,000 22,000 | A4950
FEM AL (PR - 520 R 2.2| (m3) 18,900 41,580 | A4954 %10
FEA B (EA - HR > F) BE IR IA 2t T 1.5] (m3) 10,000 15,000 | A4959
FEM ALy (EAR - HR > F) AR 1.5] (m3) 18,900 28,350 | A4963 %10
M BEIA BE IR IA 2t T 0.06] (t) 9,440 566 | A4972
A E 139,116 |3 1051 i 70,236

108,557




N R (RS2~ 24T

4 N T T M B # | BAL B A 4 KA i il
Aa—} B Hil ERCEN i

(3) . F D

CB#E N7V =0k 0.4| (m3) 16,900 6,760 | A4614

CBEERERE 4| (m) 1,010 4,040 [(10)

7 A7 7 My A—E]0 200mmIA T 3.6] (m) 400 1,440 | A4600

T A7y VMRS NG VA %)) 0.4] (m3) 3,040 1,216 | A4718

PIRIES 3 (K) 8,120 24,360 [(11)

AR B ARSRE (A ) 1 E100cmPh_F200cmAT 1] () 890 890 | A4806

38,706



N R (5 220D

%
4 PR o BT & B ¥ | B ol o] i i
Aa—} B3 AT ER /SN it
1)) =M 7 BEBRFEIA 2t 0.4] (m3) 8,420 3,368 | A4887
1)) =M ALy AR 0.4] (m3) 3,060 1,224 | A4891 i%10
T A7 7 IVhEHAERA T i BB IA 2t 0.4] (m3) 13,400 5,360 | A4914
T A7 7 IVEEHIER AL 5y R 0.4] (m3) 3,060 1,224 | A4918 %10
PER e (AR A - D) BB A 2t e 0.1] (m3) 10,000 1,000 | A4950
BER AL 53 (VEAR - 8% B 0.1] (m3) 18,900 1,890 | A4954 1310
FEA B (EA - FR > F) BE IR IA 2t T 1.9] (m3) 10,000 19,000 | A4959
FEM ALy (EAR 1R > F) AR 1.9] (m3) 18,900 35,910 [ A4963 %10
A E 107,682 |3 105+ | 40,248

68,976




